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1) Taxes on wages and interest income are called direct taxes. Indirect taxes are levied on goods and services. Hence the statement is false.

2) Real GDP in 2003 using 2002 as a base year is 
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 where i indexes good types.

3) The GDP-deflator for 2003 using real GDP as calculated above is [image: image2.wmf]1
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4) Y=C+G+I+Inventory Investment=80+10+30+5=125

5) S=Y-T-C=125-20-80=25

6) To calculate the short run equilibrium value of Y in the economy, use the equilibrium condition 
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 is aggregate demand and plug in the bevorial relationship for 
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7) National saving = 
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8) Y is ALWAYS equal to Z+Inventory Investment. In the short run EQUILIBRIUM Y=Z. Hence Inventory Investment is zero in the short run equilibrium.

9) The multiplier on taxes is 
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10) Since Y=Z+Inventory Investment always holds, Inventory Investment is equal to Y-Z. 
When 
[image: image11.wmf]120

=

Y

, 
[image: image12.wmf](

)

110

20

20

30

120

3

/

2

10

=

+

+

-

·

+

=

+

+

=

I

G

C

Z

. Hence, Inventory investment is 10. 
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